08019 - test

1 FracO 0.5021 0. 0042
2 RateO 7.06 0.12
3 Fieldo 90001. 2 1.4
4 Fracl 0.1979 0. 0028
A 9 — 5 Rat el 0. 746 0.014
P — 6 Fieldl 90199.91 0.17
Q - ® 7 Rate2 0.2483 0.0038
5 n 8 Field2 90599.977 0.047
o 8 r 9 Asy L 0. 2546 0. 0027
L ™ 10 Phase_L 6.26 0.56
R — 11 NO_L 1079. 97 0.63
= - 12 Bkg_L 1.854 0.098
E — 13 Asy_R 0. 2542 0. 0027
71— 14 Phase R 185.64  0.58
< L 15 NO_R 1022. 24 0.61
\ C 16 Bkg R 2.675 0.097
— 17 Asy_T 0. 2567 0. 0027
61— 18 Phase T 95.88 0.57
r 19 NO_T 1013. 94 0.61
- D 20 Bkg T  2.327 0.096
- 21 Asy_B 0. 2570 0. 0026
51— 22 Phase_B 275.10 0.56
— 23 NO_B 1075. 88 0.63
C 24 Bkg_B 2. 640 0.099
— d
4 — asymretry funl
r si npl eGss 2
3 - TFi el dCos map2 fun4
— +
r asymretry fun2
- si npl eGss 5
— TFi el dCos map2 fun5
2 __ +
- asymetry fun3
— si npl eGss 7
1__ TFiel dCos map2 funé
— funl = mapl * parl
2 fun2 = mapl * par4d
= fun3 = mapl * ((1.0 - parl) - par4)
g, fun4 = par3 * gamma_nu
. fun5 = par6 * gamma_nu
Fleld (T) fun6é = par8 * gamma_nu

musrfit: 2016-01-20, 08:42:07, maxLH = 1406930.6000000001 , NDF = 1310700 , maxLH/NDF = 1.0734192416266117
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